Lab 9 - Minimum Spanning Trees

1. Implement Kruskal’s algorithm using any graph representation you want: [1]

MST-KRUSKAL(G, w)

1 A=90

2 for each vertex v € G.V

3 MAKE-SET (V)

4 sort the edges of G.E into nondecreasing order by weight w

5 for each edge (u,v) € G.E, taken in nondecreasing order by weight
6 if FIND-SET(u) # FIND-SET(v)

7 A= AU{(u,v)}

8 UNION(u, v)

9 return A

2. Implement Prim’s algorithm using any graph representation you want: [1]

MST-PRIM(G, w, 1)

1 foreachu € G.V

2 u.key = 0o

3 u.m = NIL

4 r.key =0

5 0=GYV

6 while Q # ¢

7 u = EXTRACT-MIN(Q)

8 for each v € G.Adj[u]

9 ifve Qand wu,v) <v.key
0 V.T = U

1

1
1 v.key = w(u,v)

Note: Leave a comment with the text PB1, PB2.A.II, ... PB10 above every function that implements

the respective lab task. (upper case text, no space between the text and the problem number)
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